Quiz 1

CT scan of the brain showed multifocal lesions in the cerebellum. Craniotomy performed with excision
of a single 1 cm lesion in the cerebellum. Pathology was WHO grade Il astrocytoma.

1. What is the code for Multiplicity Counter?
a. 01
b. 02
c. 88 —not applicable
d. 99 -unknown

2. What is the code for Type of Multiple Tumors Reported as One Primary?
a. 00-single tumor
b. 40— multiple invasive
c. 80 -unknown in situ or invasive
d. 99 —unknown

CT scan of brain showed tumor disseminated throughout temporal lobe. Biopsy diagnosed
oligodendroglioma, WHO grade IlI.

3. What is the code for Multiplicity Counter?
a. 01
b. 02
c. 88 -—not applicable
d. 99 -unknown

4, What is the code for Type of Multiple Tumors Reported as One Primary?
a. 00 -single tumor
b. 40— multiple invasive
¢. 80— unknown in situ or invasive
d. 99 -unknown

5. A benign or borderline tumor diagnosed after 2004 arising in which of these sites is reportable
(circle all that apply).
a. Skull
b. Cerebral Meninges
c. Pituitary gland
d. Peripheral nerve



10.

The cranial meninges consist of how many layers?
a. One layer-the dura mater
b. Two layers-the dura mater and the arachnoid mater
c. Three layers-the dura mater, arachnoid mater and the pia mater
d. Four layers-the periosteum, dura mater, and the pia mater

Which of the following sites are infratentorial (circle all that apply)?
a. Frontal lobe brain
b. Meninges of cerebrum
c. Occipital lobe
d. Brain stem

The WHO grade for brain primaries should be recorded in which of the following data items
(circle all that apply)?

a. Grade/Differentiation data item

b. Grade Path System

c. Grade Path Value

d. CSSSF1 (World Health Organization (WHO) Grade Classification)

A patient was diagnosed with a meningioma (9530/0) in 2001. This case was accessioned and is
in your registry database. The same patient was diagnosed 4 months ago with a
medulloblastoma (9470/3) at your facility. You will need to...
a. Change the sequence number for the meningioma from 60 to 61. Abstract the
medulloblastoma as sequence 02.
b. Change the sequence for the meningioma to 61. Abstract the medulloblastoma as
sequence 00.
c. Do not change the sequence for the meningioma. Sequence the medulloblastoma as
02.
d. Do not change the sequence for the meningioma. Sequence the medulloblastoma as
00.

A patient was diagnosed in 1993 with an astrocytoma (9400/3) in the left temporal lobe (C71.2).
She was treated and was disease free until just recently when she was diagnosed with a
glioblastoma multiforme (9440/3) in the left temporal lobe. How many primaries does this
patient have?
a. One primary per rule M5-Tumors in sites with ICD-O-3 topography codes with different
second (Cxxx) and/or third characters (Cxxx) are multiple primaries
b. One primary per rule M6-A glioblastoma or glioblastoma multiforme (9440) following a
glial tumor is a single primary* (See Chart 1)
¢. Two primaries per rule M8-Tumors with ICD-0-3 histology codes on different branches in
Chart 1 or Chart 2 are multiple primaries
d. Two primaries per rule M9-Tumors with ICD-0-3 histology codes that are different at the
first (xxxx), second (xxxx) or third (xxxx) number are multiple primaries.



Quiz 2

CT scan of brain: large tumor encompassing most of right temporal lobe extends into the left
temporal lobe. Incisional biopsy diagnoses anaplastic astrocytoma. What is the code for CS
Extension:

a. 100 - supratentorial tumor confined to the cerebral hemisphere (one side)

b. 150 - confined to brain

c. 400 —tumor involves contralateral hemisphere

d. 800 —further contiguous extension

CT scan of brain: huge cerebral meningioma very close to the skull. What is the code for CS
Extension?

a. 050 - benign or borderline

b. 100 — supratentorial tumor confined to meninges of cerebral hemisphere

c. 600 —tumor invades bone (skull)

d. 999 —unknown

Patient has a primary benign brain tumor. Clinician records Karnofsky Performance Scale (KPS)
as 60 to 70. What is the code for SSF3?

a. 060 —KPS 60

b. 070-KPS70

c. 988 —not applicable

d. 999 —unknown

Procedure performed is craniotomy with total resection of tumor of the temporal lobe. The
tumor involved more than half of the temporal lobe. What is the code for SSF7?

a. 020 —local excision of tumor

b. 030 - total resection of tumor (less than half of lobe involved with tumor)

c. 040 — partial resection of lobe of brain (tumor involves more than half of lobe)

d. 090 - surgery, NOS

CT scan of the brain showed multifocal lesions in the cerebellum. Craniotomy performed with
excision of a single 1 cm lesion in the cerebellum. Pathology was WHO grade Ill astrocytoma.
What is the code for SSF8?

a. 001 —unifocal/solitary tumor

b. 002 — multifocal tumor

c. 988 —not applicable

d. 999 —unknown
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